N = 0l & At & Ml A

20149 = =20l &t 2eHg)

AN dot=SAFE A
B MaT B (HBBE/MBET - £F)
Sl DI2ASE B2 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Aot S ALY A 40,300,568 37,959,809 2,340,759
= 15,520,000
& 5,468,000
< 819,500
s 18,493,068
AT 2A2(BFES/MGIEE - 2F) 9,687,272 10,559,094 AB71,822
& 5,468,000
< 54,300
s 4,164,972
orS4a=5 2tel 9,687,272 8,949,854 737,418
& 5,468,000
< 54,300
s 4,164,972
SHENS &=EAE HE=> 1,316,272 1,505,854 A 189,582
< 54,300
s 1,261,972
201 Let249] 31,032 26,094 4,938
01 At 22l 16,860 7,480 9,380
Oget=gH| 3,360
—M4E YRET AREE 7Y
150,000& =128 1,800
— &) Rz 60,000& =63l 360
— L2t 2 082 20,000& 60 A 1,200
O=gtl 3,500,000& 3,500
O=ZZ A& 2 5014 0ld & Xl
10,000,000 10,000
02 =24l 14,172 18,614 A4, 442
O=323<LHA 12,372
—EAN HIR=3 808,000 128 9,696
— A ATAIE BE==2  336,000& 12 336
—EAM o= AE= 100,000& 122 1,200
—fEYs 4B 48,000& x12& 576
—SRESYHRS 47,0003 x12& 564
OA&ZEHl s X bl 1,800
— UL (HAAA) ESAHI
1,800,000& 14 1,800
202 04l 8,640 23,760 A 15,120
01 = LH 4 HI 8,640 10,800 22,160
OsHedegss 28 23 8,640,000 8,640
203 YR =&t 2,000 2,000 0
03 A Z=XH R =AY 2,000 2,000 0
O&dt=S A AIHFX 2,000,000& 2,000
401 AIEHI L 20 1,274,600 1,454,000 A 179,400
< 54,300




A dot=Z A A
B MaT B (HBBE/MBET - £F)
& tSddsE 2o (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o 1,220,300
01 A& HI 1,264,682 1,442,616 A177,934
Os0HENS d4==EAE HE
198,560,000-':’.:J 198,560
OgAaEIl &X 20,000, 000& 20,000
Obts&d=S 283 uA 99, 100, 000& 99,100
Obts2a=% E==HclAd &x 99,100,000& 99,100
Oltg&axE & AR A4 228l
99, 100, 000& 99,100
OL72 S=A4E HES 99, 100, 000& 99,100
OJIE Xot=He oIt IS TMNEH
34,622,000& 34,622
OBX2 SHNS 442204y
20,000, 000& 20,000
Oa= 22 S8A 29 99, 100, 000& 99,100
OEHIEXZAY 496,000
—SdZ(SA4E) SN2 2E
29 496,000,000 496,000
< 54,300
e 441,700
03 Al S THHI 9,918 11,384 AN 1,466
OS0/Z0I2 A2 AM HE
200,000,000-':’.:J *0.72/100 1,440
Ontg4+= 293 D
100,000,000& *0.90/100 900
Otk F=XMclAlE &1
100,000,000% *0.90/100 900
Obt2d=E 2 A2 =AE =22t
100,000,000% *0.90/100 900
OL7L S==AE HES
100,000,000& *0.90/100 900
OJIZE Kot 3t SSZAESA
35,000,000% *1.08/100 378
OY4ETBE SLHABY
100,000,000% *0.90/100 900
OZHIEx= AL 3,600
—OiSds=E(S=A4E) X2l 2UAPE
g9 500,000, 000& *0.72/100 3,600
SEsY MEES Y 400,000 1,320,000 £920,000
= 308,000
[ 92,000
401 Al BIZ 201 8] 400,000 1,320,000 A920,000
& 308,000
[ 92,000
01 A& HI 397,120 1,315,248 A 918,128
OZARNALHELEZ A ALY 397,120
—MEZEs LA 397,120,000& 397,120
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2N Aol AIE A
B MaT B (HBBE/MBET - £F)
Sl DI2ASE B2 CERED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
2 308,000
- 89,120
03 Al 20| 2,880 4,752 N1,872
OESEXNGLANELZ HALS 2,880
—MERA YA
400,000,000¥ x0.72/100 2,880
ARDETAAE JHEAIS 657,000 600,000 57,000
2 460,000
= 197,000
401 Al HI L 2 0HHI 657,000 600,000 57,000
2 460,000
= 197,000
01 A& H| 652,860 596,220 56,640
OEANGLNELF HAILE 652,860
— A2 ST AE ALY 652,860,000& 652,860
2 460,000
= 192,860
03 Al 201 Y| 4,140 3,780 360
OZAXNALHELHG H AL 4,140
— ARAD 2T AIE JNSAY
657,000,000 x0.63/100 4,140
SHEME ST I ALY 7,314,000 5,524,000 1,790,000
2 4,700,000
= 2,614,000
401 AlEHIZL 201 Y| 7,314,000 5,524,000 1,790,000
2 4,700,000
= 2,614,000
01 Al&H| 6,824,406 5,257,425 1,566,981
OZAXNALHNELG H AL 6,824,406
~ Y. 8F SOHEMEIENLAY
2,384,814,000& 2,384,814
2 2,000,000
= 384,814
—BEXYALET HEALOIH AL
3,134,513,000 3,134,513
2 2,200,000
= 934,513
—ZXH - E2E sHEHESSINL ALY
496,400,000 496,400
2 350,000
= 146,400
— HE SOHEMHSLHTAL
212,459,000 212,459
2 150,000
= 62,459
— S22 SHEZMEZSHINLAIY AAESHEA
596,220,000 596,220




AN dot=SAFE A
B MaT B (HBBE/MBET - £F)
Hel: DiSdsk 22l (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 2feldl 461,900 251,000 210,900
OZAXNALHELE S A ALY 461,900
~ Y. 8F SHEMEIENLAY
461,900,000 461,900
03 Al 2 THHI 27,694 15,575 12,119
OZIAXNALESEBHAS 27,694
~ Y. 8F SOHEMESENLAY
2,857,000,000& +0.36/100 10,286
~BE NYALT FHEALOIHAL
3, 143,000,000& +0.27/100 8,487
—E HE SHEMETELNLMY
500,000,000& *0.72/100 3,600
—HY SUHEMBSLNLAY
214,000,000& *0.72/100 1,541
—E3 SHEMSESFHLAY HdALEHEL
600,000,000& *0.63/100 3,780
=30t 22 (BFES/Mo+E - ) 23,088,350 25,019, 150 A 1,930,800
= 15,520,000
< 765,200
e 6,803,150
ot=221 &l 8,764,000 14,763,000 25,999,000
= 6,489,000
s 2,275,000
ZTHHES ot=2t)1 ZH A 5,117,000 7,856,000 A 2,739,000
= 3,588,000
s 1,529,000
TAIEHI &2 5,117,000 7,856,000 A 2,739,000
= 3,588,000
s 1,529,000
01 A& HI 4,684,207 7,416,360 AN2,732,153
OZHIEx= A 4,684,207
— = - 33H ot ZHIAY
4,684,207,000& 4,684,207
= 3,588,000
[ia 1,096,207
02 2teltl 420,000 420,000 0
OZ2HIEx= A 420,000
—ZH - HEH S22 FElAY
35,000,000& 12& 420,000
03 Al 2 THHI 12,793 19,640 NB,847
O=HIEx= ALY 12,793
— = - 335H ot ZHIAY
5,117,000,000& *0.25/100 12,793
JtOFOF2 of =2t HHIAY 3,647,000 6,907,000 A 3,260,000
= 2,901,000
e 746,000

~




2N
X ZH -
L= B

el

ASts T AP A
3ot 2Ll (BEES/4otxT - +7)
Sh=2t1 A

A - ER(EN) - AR - B of & o4 SSa HIDZ2
401 AIEHI L 2CHYI 3,647,000 6,907,000 A3,260,000
= 2,901,000
= 746,000
01 Al £ HI 3,217,153 6,469,732 A3,252,579
OZHIEXALE 3,217,153
—JtOF - OF2H ot=2t1 EHlALY
3,217,153,000& 3,217,153
= 2,901,000
s 316,153
02 Zeldl 420,000 420,000 0
O=HIExAE 420,000
—JIOF - OF2Y Gt FHIALY
35,000,000& x12& 420,000
03 Al 2 THHI 9,847 17,268 AT, 421
O=HIE XA 9,847
— JiOF - 02 ol==2tH FHIAY
3,647,000,000& %0.27/100 9,847
3ot A& FHI 14,324,350 10,256, 150 4,068,200
= 9,031,000
S 765,200
[Ea 4,528,150
SANHE L S5 FHI 617,350 594,150 23,200
201 YEr2 Y| 13,030 9,830 3,200
01 AtR 22l | 5,140 2,440 2,700
Oget+=Z| 200
—HMARE FY 200,000& 13| 200
o=2g8=+¢ 2,700
— A F4dxE 150, 0003 9 %23 2,700
O3l 2,240,000& 2,240
02 s3=9Hl 7,890 7,390 500
O=32= & HA 3,190
—ol=% &3l 2,100,000& 2,100
—2EX ASIHA 50,000 50
— 221 288 1,000,000 1,000
—SFNERES 20,0003 *22 40
OXtg - el 4,700
—H4EXMY =FU 1,900& *2,0002| & 3,800
—HEXE |AHl 450, 0003 »23 900
202 o4 Hl 4,320 4,320 0
01 = LHO I 4,320 4,320 0
Odt+==dHl 2d g2F4 4,320,000& 4,320
401 AlEHI 22 0HYI 600,000 550,000 50,000




AN dot=SAFE A
HE: BToI4E ol (BIBE/MGEE - £F)
Sl BIoALTAIE FH CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 595,500 545,860 49,640
OEAHE RS dt=5 HHI 148,920,000 148,920
OZAHE ALY o= =4 148,920, 000 148,920
O33ot=& Ml AIRX 24
99,100,000& 99,100
OZBo+E HalRW 2 - 24 22 o @
H EH 198,560, 000 198,560
03 A& S THHI 4,500 4,140 360
OZAAHE ALY ot=5 HHl
150,000,000& *0.72/100 1,080
OEMAEIASUH ot =4
150,000,000& *0.72/100 1,080
O33ot=& Ml AIRA 24
100,000,000 *0.90/100 900
0BT+ HolRol 2 - 24 22 ¢ 3
H EH 200,000,000% *0.72/100 1,440
SHE0ISot=5 ZHIALY 958,300 3,941,000 A 2,982,700
2 558,000
< 47,300
e 353,000
401 Al HIZ 201 Y] 958,300 3,941,000 A2,982,700
2 558,000
< 47,300
s 353,000
01 A& HI 791,462 3,605,211 A2,813,749
OZHIEx= At 791,462
— QYOS ot+=& &X 791,462,000& 791,462
2 558,000
< 47,300
s 186,162
02 Zeltl 160,800 321,600 A 160,800
OZHIEx= At 160,800
— QA0S B2 E &X
13,400,000& = 1200 & 160,800
03 Al S THHI 6,038 14,189 A8,151
O=HIEXZ ALY 6,038
— QA0S st=S & X
958,300,000% *0.63/100 6,038
H SOE0So4E HUIAY 3,136,600 2,083,000 1,053,600
= 2,237,000
< 187,800
[ia 711,800
401 A& HIZ 201 Y| 3,136,600 2,083,000 1,053,600
= 2,237,000
< 187,800
s 711,800




2N Aol AIE A
HE: BToI4E ol (BIBE/MGEE - £F)
e 220l AlE H| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al& H| 2,967,331 1,914,701 1,052,630
OZHIEXZAY 2,967,331
— &4 0tsolx== & 2,967,331,000& 2,967,331
= 2,237,000
< 187,800
= 542,531
02 2eldl 160,800 160, 800 0
OZHIEXZAY 160,800
— &4 0ol & 13,400,000 ~12& 160,800
03 AlE 20| 8,469 7,499 970
OZHIEXZAY 8,469
— &4 0tsolx== &
3,136,600,000€ x0.27/100 8,469
MM =HEDISotET ZHAY 2,597,100 1,724,000 873, 100
= 1,860,000
=} 155,100
= 582,000
401 Al HI L 2 0HHI 2,597,100 1,724,000 873,100
= 1,860,000
=} 155,100
= 582,000
01 Al&H| 2,426,950 1,556,993 869,957
O=HI 2 At 2,426,950
—W® 0S54 E 8K 2,426,950,0008 2,426,950
= 1,860,000
o=} 155,100
= 411,850
02 22l 160,800 160,800 0]
OZHIEZAY 160,800
— MM OlsSole=T AX 13,400,000 x12& 160,800
03 A& E2HH]| 9,350 6,207 3,143
O=HI 2 At 9,350
— W Ol2staT &3
2,597,100,000€ x0.36/ 100 9,350
Y SOE0IS3l45 HHIAY 4,758,000 714,000 4,044,000
= 3,376,000
< 289,000
= 1,093,000
401 AlEHIZL 201 Y| 4,758,000 714,000 4,044,000
= 3,376,000
= 289,000
= 1,093,000
01 Al&H| 4,584,353 548,701 4,035,652
O24IExZAY 4,584,353
— e O0tEsl== & X 4,584 ,353,000& 4,584,353
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2N
X ZH -
L= B

el

0H OH 0%

St AL &
Sot+E el (BEES /46t - +E)
S5t A4 Hul

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 3,376,000
< 289,000
e 919,353
02 Zeltl 160,800 160,800 0
O=HIEXZ ALY 160,800
— W otsot+=& &X 13,400,000& =128 160,800
03 A& S THHI 12,847 4,499 8,348
O=HIEXAY 12,847
— Y oestaEAR
4,758,000,000% *0.27/100 12,847
2 sHENSo=S EHAZ 714,000 0 714,000
= 500,000
= 43,000
[ia 171,000
401 A& BIZ 201 8I 714,000 0 714,000
= 500,000
< 43,000
s 171,000
01 A& Bl 548,701 0 548,701
O=HIEZAY 548,701
—EF sHE OtSot=% FHIAMY
548,701,000& 548,701
= 500,000
< 43,000
e 5,701
02 Zeltl 160,800 0 160,800
O=HI & E A 160,800
—8F S0/Z 2545 FUAY
13,400,000& 122 160,800
03 Al 20 HI 4,499 0 4,499
O=3HIEx ALY 4,499
—8F SO E 3otk FHAEY
714,000, 000& *0.63/100 4,499
ExF)ls sHELSot=E ZHIMH 1,543,000 0 1,543,000
= 500,000
= 43,000
s 1,000,000
401 Al& Bl 28I 1,543,000 0 1,543,000
= 500,000
< 43,000
s 1,000,000
01 A& HI 1,376,645 0 1,376,645
OIHIE= At 1,376,645
—E2FIs sHE Ot2ota=S HUALY
1,376,645,000& 1,376,645
= 500,000




2N Aol AIE A
HE: BToI4E ol (BIBE/MGEE - £F)
e 220l AlE H| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 43,000
2 833,645
02 2elbl 160,800 0 160,800
O=HI 2 X At 160,800
—2FI)s sHE OFSola=S HU ALY
13,400,000 *12& 160,800
03 Al 201 Y| 5,555 0 5,555
O2HI 2 XAY 5,565
—Z2FI)s sHE OtSot=% ZUH ALY
1,543,000, 000 «0.36/100 5,555
HESAAH (MO AL A)(IIEH/DIEE) 20,740 20,740 0
JlE&dl 20,740 20,740 0
Jl2 &4l 20,740 20,740 0
201 Bt 8,140 8,140 0
01 AP 22| H| 8,140 8,140 0
Ogbt4=24| 8,140,000 8,140
202 04 d| 8,400 8,400 0
01 2Ll 8,400 8,400 0
S (A, HMIIU, 385 &4 5)
8,400,000 8,400
203 € R =& 4,200 4,200 0
04 RNSYYRETY 4,200 4,200 0
OFRNMSIERF=EH| 4,200,000& 4,200
HEES (Mol AIEA)(S#EES/AGIEE - =F) 7,298,656 2,360,825 4,937,831
WHEAHAN XK= 7,298,656 2,360,825 4,937,831
JIEISHEE2 2,259,962 2,360,825 A 100,863
701 JIEIS HE =2 2,259,962 2,360,825 A 100,863
01 JIEIS HE =2 2,259,962 2,360,825 A 100,863
OFZNLHEEIH &2 2,259,962,000& 2,259,962
SIHELEIHEES 5,038,694 0 5,038,694
104 2| A=2ME2 5,038,694 0 5,038,694
01 ZIIESEIAHN=2HTES 5,038,694 0 5,038,694
OM=EZBIHELESNH NEBNB
5,038,694 ,000& 5,038,694
HPE=S(MOlE=TAIEA)(LEIZ2HH/WE - 2 E) 205,550 0 205,550
BEX= 205,550 0 205,550
BX32BE2 205,550 0 205,550
802 Bt&t =D Ef 205,550 0 205,550
01 2DEX2Hta 2 204,300 0 204,300




S A
B T

ool 2

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02011 JtOFOFZ St=X 2l Ald & XA
182,000, 000& 182,000
O2011E =AHEHS ot=HM2lAE XA
9,000,000& 9,000
020122 JtOFOFZ ot S M AIE EX AL
2,800,000 2,800
020128 =AHESote= SUMUAE XA
10,500, 000& 10,500
02 Al - EHIEXZEHEZ 1,250 0 1,250
020122 JtOFOFZ ot S M AIE EX AL
300,000 300
020128 =AHESot= SAUMUAE XA
950,000& 950




